TR304£10A

A6 NMEFHEFRNMERLY—ERMEB)Y—ERXI—FEX (FRIOFEI0AH D)
H—EXa—F
H—E RN #RER aRELY | EEa
| | =8
A6 | 1111 [BARRMEY—ER] 1647841 1,647| 1RI1=0%
EEHNRE - EXIE
A6 | 1112 [BFFREREY—ER1BE 4 EFEY_CRR 545847 54| 1B(zD%
A6 | 1121 |EFmmEy—E22 CRED 2077848 3377| 1RIzo%
BEHRE-EXIE2
A6 | 1122 [BFEMEY—EZ28% RRE-tivs 111] 181z>%
;i ) —F B e AL -
A6 | 8110 [#ERTEAEY—E XL ERIENE qﬂuélea:]tfhiﬁ%I:EE?’é%‘f\w*f—E P A D5 % E 1Alz0%F
A6 | 8111 |EFEIREY—E Rt ILRHhiE S mE A% ARRINE P TE BT H D5 % I 18I0
A6 | 6109 [EFEEMEY—EXBEEHBAEZANE |(EESROENRERANE 240 f NE 240
A6 | 6105 [@AEREY—E RA—RHE1 FEREA—BMIBETIERIA (FERRE -EXE 376 E -376
—RIALHAT HE(CEAE Y —E
A6 | 6106 [BFEMEY—ERA—RMHE2 ZBB)ETIHE FERRE-EXE2 152 HE -752
A6 | 5010 |EFFEREEER LS L—FFHmME 0 AEHEER LY L —TERmNE 100 B fE AN 100
A6 | 5002 [{@FTEREY—E REBBIER L NE /N EEHEAEER E 205 INE 225
A6 | 5003 [BAIERMEY—ERERREME = REREME 1508 fT AN 150
A6 | 5004 |@FAFEMEY—E R OREEER LS  OREAER L 150 4T AN 150
A6 | 5006 |iEATEREEHY—E RERME 11 EEEHAEN L RURESRE A80BAfT NE 480
A6 | 5007 |BFEREHHY —E RRIEM 1 2 ~ stigey | (BRI CEASER \mmsimien ERUDRBES L  ss0mimE 480
H—E R
A6 | 5008 |ERTEEEHY —E REMHME 13 YRIEMH RERE R OREMEERA L 48085 T N 480
e s = 18I22F
A6 | 5009 |EATEE &MY —t RRIEMH I @ BRUYTEABER | ERENERUOBERAL  700HEIM 700
A6 | 5005 |@FAFEME Y —E RBEFFMEME b BERRIEME 12084 N 120
A6 | 6107 [ERTEREY—ERRHEARMET 11 1) H—ERE |BENERE -EXIE1 T2B L 72
L STy (-
A6 | 6108 |EATESEH—E RIBHAFIMNE 1 12 (D1 BENRE-BEXIE2 144 B 144
[ e . e maiE e
A6 | 6101 [ERTERE Y —ERREARME I 21 ;15;;;{%%%“ @%ﬂg?@%ﬁg BERRE-EXRE 48EAfT 48
A6 | 6102 [EATEIREH—E RIBHAHIME [ 22 (A BENGH -EXIE2 968 {1 96
A6 | 6103 [BAFE I EY—E RIBHARIMNE 11 @) H—ERIE |BEHRE-EXIE 208 f 24
Bk IE
A6 | 6104 |BEAREEEY—E RIBHASIME T2 () BENRE-BEXIE2 48y 48
A6 | 4002 |BFAFEI B Y —E REFHEER LEEME ;]) T 200E i E 200
R o e um————— EEHRSEN LMEEEEL TS 100 B 47 N 100
A6 | 6201 [EFEMEY—EREERIU—=IME R RBEROY—=L T ME(6AIS1BERE) SEfME 5| 1@I=o%
A6 | 6100 [EATEIREY—E RLBREME [ N EHEMBREME (1) FEELD59/1000 ME
A6 | 6110 [ERTEMEY—ERLBREME I ()38 B LBREME () FRE B4 2D 43/1000 HNE
A6 | 6111 [EFZEREY —E A EXEME T Ir TEBALESE | o pumANERSME (D) FEBAHD23/1000 ME 181zo%
A6 | 6113 [BFAEMEY—E RLBHREMEN ONEHEWBREME (V)  QTHEELLE[LBD 90%ME
A6 | 6115 [ERTEIREY—E RILBRENE V ONEHEWBREME (V)  QTHEELLE[MKO 80%ME
EEHBDIGE
L Y —ERRERT HEEE amuhn| Brss
A6 | 8001 [BAIEEY—ERT-ER 164784 1,153| 1RIco=
BEHNRE-EXIE
[ e xqgE- . -
A6 | 8002 [@FEMMEY—ER1BE- £ 4 EFEY_ERR S4B o nim 38| 1BI=o=
_ N [¢:3=D) R & x70%
A6 | 8011 [BAIREY—ER2- TR 3377HME 2,364| 18I=>%
EENRE-EXIE2
A6 | 8012 [@FiEMEY—ER2E - £ IRRE Ly 78| 181z>%
EFE-NEBENREDES
L Y—ERRERT HEEE amuh] Brss
A6 | 9001 [BAEREY—ERT- AR 164784 1,153| 1RIco=
BENRE-EXIE
3 4] —F 2. HL | B .4 8 -t
A6 | 9002 [ERTEIREY—ER1BE AR 'fﬂigﬁﬁﬂ*f—t“x% S4HAT Eﬁg&ﬁ?g 38| 1HI=DZ
A6 | 9011 |ERTEEBY—ER2- AR bl 3,377HfL x70% 2,364| 1AI=>%
EEHNRE-EXIE2
A6 | 9012 [E@FEMMEY—ER2BE AR RRE Ly 78| 181z>%




